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1. | This test-booklet contains total 80 questions. All
questions are compulsory. The booklet is bilingual.
In case of any dispute, English version will be
considered as final.
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2. | The test-booklet consists of 30 pages, including
cover sheet. Count the number of pages and
questions before attempting the questions.
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3. | Blank space in the test-booklet may be used for
rough work.
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4. | Each question is followed by four alternatives.
Select only one, which you consider as the most
appropriate. Shade the relevant circle against the
corresponding question number on the OMR
answer sheet. Selecting more than one answer for a
question, even if one of the selected answer is
correct, would result in its being treated as an
incorrect answer.
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5. | i) Each correct answer will carry 2 marks.

ii) Wrong answers will carry negative marks of -
0.5 each

iii) Questions not attempted will carry no mark.
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6. | This booklet has three sections:

Part A — Language Proficiency — 20 Questions
Part B — Teaching Aptitude  — 30 Questions

Part C — Reasoning Ability — 30 Questions
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7. | The merit list will be based on 60%weightage to
entrance examination marks and 40% weightage to
qualifying examination marks.
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8. | Responses should be marked on the OMR answer- I Faer OMR ¢fie 9 & it fFre Sroan #:
sheet only. No answer should be written on the test- off I TF-TrAHT T 72 fraT T =Rw

booklet.
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PART - A
Language Proficiency
(Expected Answering Time : 20 Minutes)

Direction (Question No. : 1-5)

Read the passage carefully and answer the questions that follow choosing the most
appropriate alternatives.

The field of artificial intelligence (AI) has witnessed remarkable advancements in recent

years, revolutionizing various sectors such as healthcare, finance, and transportation.

Machine learning algorithms have enabled unprecedented capabilities in data analysis,

pattern recognition, and decision-making. These technologies have not only automated

complex tasks but have also paved the way for innovative solutions to long-standing

challenges. In academia, Al research is at the forefront of interdisciplinary studies, bridging

the gap among computer science, engineering, mathematics, and social sciences.

Collaborative efforts among researchers from diverse backgrounds have led to

breakthroughs in natural language processing, computer vision, and robotics. These

advancements hold the potential to transform education, research methodologies, and

scholarly communication, offering new avenues for inquiry and discovery. Despite the rapid

progress in Al technologies, ethical considerations remain a focal point of discussion and

debate. Questions surrounding privacy, bias, transparency, and accountability continue to

challenge researchers, policymakers, and industry stakeholders alike. As Al systems become

increasingly integrated into our daily lives, understanding the ethical dimensions and societal

impact of these technologies becomes essential for responsible innovation and policy

development. Moreover, the global nature of Al research and development necessitates

international collaboration and cooperation. Open-source initiatives, data sharing, and

collaborative projects have become integral to advancing Al capabilities and addressing

global challenges. However, geopolitical tensions, regulatory frameworks, and intellectual

property rights pose obstacles to seamless collaboration and knowledge exchange across

borders.

1.

Which of the following is stated to be a focal point of discussion and debate in the field of
Al?

(1) Technological limitations

(2) Ethical considerations

(3) Global challenges

(4) Research methodologies
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2. What is essential for responsible innovation and policy development as Al systems become
integrated into daily lives?
(1) Ethical considerations and societal impact
(2) Technological advancements
(3) Financial investments
(4) Market demand

3. Which of the following is stated responsible for improvement in decision making ability?

(1) Robotics advancements

(2) Machine learning algorithms

(3) Social media platforms

(4) Financial technologies

4. What among the following is related to advancing Al capabilities and addressing global

challenges?

(1) Geopolitical alliances

(2) Intellectual property rights

(3) Open-source initiatives and data sharing

(4) Regulatory frameworks

5. Find out the statement which is not true as per the passage.

(1) Al research has bridged the gap among various disciplines.

(2) International collaboration is necessary for research in Al

(3) Collaborative efforts have brought breakthrough only in the area of language processing.
(4) AT has led to innovative solutions to many challenges.

6. Which word correctly represents ‘an intense desire to get something’?

(1) decline
(2) intensive
(3) yearning
(4) eradicating
7. Which is the correct option of ‘I used to hate English very much’, when turned into an
exclamatory sentence?
(1) How I used to hate English!
(2) How I used to hate English very much!
(3) What I used to hate English!
(4) How did I use to hate English!

8. Which of the following is correctly spelt?
(1) Audasity
(2) Audacity
(3) Audesity
(4) Audecity
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9. Which of the following is the opposite of the word ‘abhorrence’?

(1) contempt
(2) disdain

(3) admiration
(4) despiteful

10. Select the correct alternative to complete the sentence.
You can rely on the person. He will never

(1) turn you off
(2) let you down
(3) take you over
(4) blow you up

Direction (Question No. : 11-15)

Read the passage carefully and answer the questions that follow choosing the most
appropriate alternatives.

We are passing through a phase in our social and political life which poses a special danger
in the erosion of long accepted values. The goals of secularism, socialism and democracy
are coming under increasing strain. There exists a schism between the formal system of
education and our rich and varied cultural traditions. The preoccupation with modern
technologies should not be allowed to sever our new generation form their roots in India’s
history and culture. Deculturalisation, dehumanisation and alienation must at all costs be
avoided. Forces of social and national disintegration have become active, putting our
democratic society to its severest test. Population explosion has seriously affected the quality
of life in different spheres and has caused social tensions and unrest. Our physical
environment is increasingly polluted, and depleted of its resources. Narrow casteist,
communalist, linguistic and regionalistic outlooks are dividing our people and blocking our
national integration and international understanding. The world today faces a catastrophe,
threatened with global nuclear holocaust. This calls for a deliberate thrust on values in our

education.

11. What has been suggested by the writer to save the world from the disaster?

(1) Emphasis on cultural education
(2) Environmental education

(3) Revival of value education

(4) Emphasis on humanism
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12. What is the main focus in the passage?

(1) Checking alienation from one’s culture.
(2) Checking value erosion

(3) Inculcating value education

(4) Safeguarding national integration

13. Which of the following is stated to be the root cause for many of the problems in India?

(1) Environment pollution

(2) Population explosion

(3) Casteism and communalism
(4) Dehumanization

14. What apprehension does the writer express in respect of modern technologies?

(1) It promotes dehumanisation.

(2) It affects the goals of secularism.

(3) It gives rise to social unrest.

(4) It takes away children from their cultural roots.

15. Which of the following has put our democracy to its severest test?

(1) Politics

(2) Regionalism

(3) Forces of social and national disintegration
(4) Religious forces

16. ‘Pull your socks up’ means:

(1) To get well dressed for the occasion

(2) To improve your work or behaviour

(3) To speak in an honest way

(4) To be in control of an organization often secretly

17. Which of the following options will make this sentence perfect?
‘In memory of such active and loving teacher, a trust was constructed.’

(1) Adding ‘an’ before ‘active’
(2) Adding ‘an’ before ‘active’ and ‘a’ before ‘loving teacher’.

(3) Adding ‘an’ before ‘active’ and replacing ‘constructed’ with ‘established’.
(4) Replacing ‘constructed’ with ‘established’.

18. Choose the correct spelling:

(1) MUSTACH
(2) MOSTACH
(3) MOUSTACH
(4) MOUSTACHE
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19. Choose the appropriate phrase to replace the underlined word in the following sentence.
Water reservoirs have been depleted by years of drought.

(1) used off
(2) used up
(3) used for
(4) used through

20. Choose the correct option that indicates the correct word order for a meaningful sentence.
P- has to be an
Q- a national curriculum framework
R- the national system of education
S- essential features of

(1) RPSQ
(2) QRSP
(3) QPSR
(4) SQPR
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22,

PART -B
Teaching Aptitude
(Expected Answering Time : 40 Minutes)

21. Approaches that start with the language 21, S I & Rerff e FaT F a€ T

the student brings to the classroom and
builds on family and cultural language
to promote standard language usage are
considered

(1) multi-lingual

(2) immersion

(3) transitional

(4) familial

Arrange the following teaching process 77

in order

(i) relating the present knowledge with
the previous knowledge

(ii) evaluation

(iii) re-teaching

(iv) formulating objectives
(v) presentation of materials

Select the appropriate response from
the options given below:

(1) (), (i), (iii), (iv)
) (), (i), @v), (v)
() ), (iv), (iii), (1), (ii)
() (i), (), (v), (ii), (iid)

ATeT TRET SR giedfas TR F A I
AT WTNT - g o RAwla Farsmar g,
S FTFEIE ?

(1) SgwTS=Har

(2) =TT

(3) THHOTEHTAIT

(4) gaRfra

e foveror whimar &t 0 @ FoITRT-

(i) T T T TGATT F T A STEHL @7
(i) eaTRe

(iif) g7 fRreror

(iv) ST TF FAT

(v) qTET-aTERAY FT g A e T
et & & a8 Reer g

(1) @), (i), iii), (iv)
(2) (W), (i), (iv), (v)
(3) (v), (iv), (iii), (i), (ii)
(4) (iv), (), (v), (i), (iii)
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23. Ruma is employing a type of assessment 23 fRgfafia wr w1 39T 3 ¥ frg w47 s(o+ i

24,

25.

in her class to answer the following
question:

“To what extent the students of my class
can employ their learning in solving real
life problems?”

Ruma is using the methods of :

(1) objective assessment
(2) diagnostic assessment
(3) formative assessment

(4) authentic assessment

Which of the following is considered a 74,

sign of motivated teaching?

(1) Students asking questions
(2) Maximum attendance of the students
(3) Pin drop silence in the classroom

(4) Students taking notes

Article 45 under the Directive Principles 25,

of State
Constitution, provides for...

Policy in the Indian

(1) Early childhood care and education

(2) Rights of minorities to establish
educational institutions

(3) Free
education
(4) Education for weaker sections

and compulsory primary

TAT H TH THIC F ATHAT HT AT FAT §-

"ITEAAE S T aHETS 7 g R
F g 98 Far ¥ Rt w5t % =%
T FT T T THA?”

AT i 79 IS FY 7T TEgS §7

(1) FEGEAS srwer

(2) fA=mTHS ArHAA

(3) TIATHF e

(4) VTHETIOR STherT

e & & #19- ar s freror w1 weor
HTAT ST 87

ORECUERIEIRER Gl

(2) frenfat i srfemaw sufeafa

(3) e H T Fedsear

(4) =T F7 Areg fomEe

AT S & Teaifa & Rt Rem
¥ ATIT-45 | T AT §?
(1) ST Qrarey it TETer SR foraar

(2) Srfers SeATT T TUAT § SeuseTht
=7 AfEF

(3) s i srfeamed wse fever

(4) FESIT T & forw fover
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26. To make a teacher accountable for 72¢. Rufigi ¥ sfdww ¥ daf & foew +r
student’s learning, he/she should be
given ST FA B I 47 Ry v AfRg?

(1) Freedom in the selection of contents (1) faeor & faww & f@Afdsr g7+ &

and methods of teaching

THAAAT
(2) Training in teaching and examining (2) foreror s wdveror T ireror
(3) High salary (3) Sg AT
(4) Choice of the class and subject (4) foreror F 3wy, WERT FOT FEAT-HAT A
content of teaching
SERSEY

27. The Right of Children to Free and 27, frseif it f:qe® sl siffard fRrar atfdere

Compulsory Education Act was

implemented in India with effect from... 77 ST W< § ¥ L GA?
(1) 1st April 2009 (1) 1 e 2009

(2) 1st May 2010 2) 172010

(3) 1st April 2018 (3) 1 ¥ 2018

(4) 1st April 2010 (4) 1 e 2010

28. Which of the following is NOT an 28 sar & goeue sigfdar F = B
intrapersonal skill promoted during

classroom interaction? st iRe e i T gee
(1) Self-Awareness (1) sreaSraar

(2) Personal growth (2) =afeTe afgf

(3) Empathy (3) T

(4) Emotional Intelligence (4) T3 i

29. Which of the following is indicative of 29 fRgr ¥ ¥ +\=-a7T UETTET FaT foreor-
quality classroom teaching learning

process? SIERLRIERIRaR SRl
(1) Level of discipline among the (1) RRrenfat § srgameas
learners
(2) Standard of learners’ questions (2) forerrfeiat i werTEeT 7 T
(3) Quality of teacher’s questions (3) FRvers gy e S Y o

(4) Standard of answers given by learners (4) TRty g Ry Ty S 1 &%
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30. A set of rules a teacher can employ for 30, Rrefiay ¥ w13t it TUTERT T ATHAT L 1G]

31.

32.

assessing the quality of a student’s work
is...

(1) areliability check list
(2) the standardization rules
(3) atable of specifications

(4) ascoring rubric

A teacher gives a lot of positive and 31,

negative examples in discussing a topic
during the classroom transaction. This
would develop pupils’...

(1) Memory level
(2) Understanding level
(3) Reflective level

(4) Application level

Which of the following is the national 3,

repository of high quality resources of
foundational literacy and numeracy?

(1) Digital Infrastructure for Knowledge
Sharing (DIKSHA)

(2) National Institute for Open Schooling
(NIOS)

(3) National Repository on Open
Educational Resources (NROER)

(4) National Professional Standards for
Teachers (NPST)

¥ fore e e g g FRawTast
TES &7

(1) fraa sF-foe

(2) =TT AT

(3) fafersarsit i wroft

(4) =Tse STgTRT sArher

FT § T TG ht T HLQ G99 T e
FAF FHTF S AHIHS STTEL0T AT &
¥ Remff ¥ fRFm w1 99 - a1 w= sk
FET?

(1) wf-we

(2) THEAA FT T

(3) Hawsfierar w1 &<

(4) TIR-EIX

gAY T ol deaT-ae F Iy Jurar
FTr SETEAT T TEIT WETT RF-9T 87

(1) TefSres TawegaaT wi qias aFar
(DIKSHA)

(2) g EfREege WX A wHiE
(NIOS)

ORECEERRIECUE G EE RS EREE
frrifer (NROER)

(4) doe ThEAw Tegd Wik =99
(NPST)
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33. Which of the following statements do 33, A% wq«i & ¥ F=-aT Freror Y forerss ¥

34.

35.

NOT describe the characteristics of
teacher-centered methods of teaching?
i. Students are passive learners

ii. Teacher acts as a facilitator of
learning

iii. Teacher directs learning activities

iv. Learning is based on collaboration
among students
v. Learning is based on students’
interest

Select the correct option:

(1) i,ii &iv
2) ,iv&v
3) 1 &iil
4 ii&v

Which of the following are the stages of 34,

formal schooling proposed in the NEP
20207

(1) Anganwadi, Lower Primary, Upper
Primary, Secondary

(2) Balvatika, Preparatory, Middle,
Secondary

(3) Preparatory, Middle, Secondary,
Higher Secondary

(4) Foundational, Preparatory, Middle,
Secondary

foreror fAfer Y RAfrearsit =1 aviw 7Y war?
i. Rremff Aftwe foremdT §

ii. frer atfinm % forg gRer ya@sd F
T H FH FAT S

i forerer srfermr Rt = Rdem T §
iv. Fremffat & sroedt wggrT 9T st
AraTRT §

v. fFrenfifat i = wx sftrm smnfRa §
GEREE Sl (D1

(1) i, iii & iv

() i,iv&v

(3) i&iii

4) ii&v

Tfiw frar AT 2020 g w=fAS
=i fare F daw e § @ -2 2

(1) saTsT, Fe-amatas, sg-wrates,
ATEATHE
(2) STAATIERT, TEI AT, Hed, ATeqHE

(3) eI, He A, AT A, IF ATATHE

(4) STHETIHA, TEAgs, Hed, ATea s

National Education Policy 2020 has 35 trfir farem ify 2020 & sreamfesr &

proposed the establishment of
Balvatika. At what age is a child eligible
to be admitted to Balvatika?

(1) Above the age of 6
(2) Prior to the age of 6
(3) Above the age of 5
(4) Prior to the age of 5

TTYAT FT TEATF @7 AT §| Troarfeswr §
w3 ¥ forg o ff sy et gt =niRe?
(1) 6 a9 i sy & s(feT
(2) 6T f¥ Mg F Tgr
(3) 5o #it oy & sAfew
(4) 59 & MY T7A

3024/D
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36.

37.

38.

Which of the learner

characteristics is

following
highly related to
effectiveness of teaching?

(1) Prior experience of the learner

(2) Educational status of the parents of
the learner
(3) Parental income of the learner

(4) Family size from which the learner
comes.

36. fRreror i goeraT ¥ g RAw # & forardT 6t

-t e srfts 7w @t 87

(1) foreareft #7 & (AT
(2) foverreff & wrar-foar i afers gt

(3) foverroft & wraT-fuar &7 =17
(4) fareareff  aRETe #1 A

Which of the following situations would 37, e srfermy A< & forg R & & #19-

be the best for maximum transfer of
learning?

(1) Different tasks requiring different
responses

(2) Different tasks requiring the same
response

(3) Similar tasks
responses

requiring different

(4) Similar tasks requiring the same
response

#t aRfRufy waiow 82

(1) fafe sfefrmd aEes = aw
At w1

) o &y i aRET sraes w1
arer fafsre 1

@) fafvrw gRfFmt smes == a™
THT THI & FE

(4) TaTT TiafEFaT AEeTs w3 9 g9
THIL &

An individual learns meaningfully when 38, g w7 & us ==ftr a9 dieqr §, 59 9€...

he/she...

(1) questions, participates and

collaborates in the learning activity
(2) performs multiple activities as
directed by the elders

(3) practices the activities with as many
variations as possible

(4) prepares for answering all types of
problems associated with learning

(1) sfemmer wfafafest & @8 o7 1= 2,
TRT AT 3T FEIRT HLaT

(2) Tt FMEATIAR 5 TIATATEAT w1
FLATE

(3) v v * gw g, Tt wfafatet
T AEITH FLAT 3

(4) =rferTa & gafeeg aoft wre i awerat
T FTHAT FLA Tl TATE EZAT 8

3024/D
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39. According to the National Education 39 i fver it 2020 ¥ sga™ Ramerdi=
Policy 2020, the Preparatory Stage of

schooling comprises of... Fore 3 e sregRgers ST i 47
(1) Preschool and Balvatika (1) q@-FEremerg i ae arfear

(2) Classes I, IV and V ) N, 1V iV $ weard

(3) Classes I andII ORENMIEIET Y

(4) Classes VI, VII and VIII (4) VI, VI 3= VI T e

40. A teacher who believes that students are 40, Sy fovers faramer aT § & ReEmdt ylds
naturally curious and that the best wa ’
Y : & ¥ Ry § IR =-afase yoreht

to encourage learning is through a

process of 'self-discovery' is likely to FrfemTT WT%?I’ A FT HY AW g, 98

encourage to learn. frax ¥ g FT NaTfRd FaT 8
(1) Competition (1) wiagfear

(2) Extrinsic motivation (2) aTg-SToT

(3) Imitation (3) srHTOT

(4) Intrinsic motivation (4) 3 - ITOIT

41. A teacher who takes a constructivist 41, foreror £t aTH® T sTa=™ aTer forers

approach to teaching would most likely

to encourage students to.... A ¥ o '
(1) Solve problems on the topic taught (1) fReme 7u fAww o smarfRa wet w v
HATET 27 & fog

(2) Collaborate with others (2) TEU F TEANT F FH F:A F fog

(3) Memorize information (3) FIATS & ATE @A F T

(4) Focus on individual excellence (4) S=fre IcpEar T e & & o

42. CPD stands for . 42. CPD #1 R s w7 87

(1) Career Promotions Devices (1) e e fRarsas

(2) Continuous Professional (2) FHEAAT ThEA STATHE
Development

(3) Comprehensive Programme (3) iR TR TR
Development

(4) Continuous Programme Directives (4) qﬁ%—@'a:m“ T ST e
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43. Which of the following statements about 43, #% ¥ gz« ¥ s #F-a7 Fa7 9T &7
punishment is FALSE?

(1) Punishment teaches new responses (1) &= =< yfafear e g

(2) Punishment temporarily suppresses a (2) == qmaia® &7 F yAbmT AT gaT AT @
response

(3) Punishment may permanently (3) = et = A f AT 7T A &
Suppress a response

(4) Punishment applies an aversive event (4) = TH qﬁﬁ AT AT FLA] %

44.In a democratic country like India, 44, wrg ¥& TF ToEiHF I F RBeErway #
schools should concentrate on .
T AT EATT Fiead HCAT AR

(1) Development of traits to face hurdles (1) T Sftew & &3t &1 amwaT 739 3
of daily life P

(2) Inculcation of values cherished by the (2) =HETT g TNT Saa-Heat Fi7 g

community

(3) Preparation for academic excellence (3) drerfor Srgar ¥ forw AT
(4) Development of traits of good (4) =g T $T fFerwarst & fw

citizenship

45. Which of the following teacher 45 fwr & & #tw-uT forers wfdveror Friww TH

education programmes has NOT been

proposed in the National Education FRve fifer 2020 % resTfaw TR gon &2
Policy, 2020?

(1) 1-year B.Ed. Programme (1) T FetT .0 FTOHT

(2) 2-year B.Ed. Programme (2) = aefty f.ue FrEwa

(3) 4-year B.Ed. Programme (3) =< AT 1.qE FEAFT

(4) 4-year Integrated B.Ed. Programme (4) =< Tty gufad f.ug FEFT
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46. Which set of learner characteristics may 4¢, fpardT &t frdrsaraif 1 #7-87 ¥ oA

47.

48.

be considered helpful in designing
effective teaching-learning systems?
Select the correct alternatives from the
codes given below:

a. Prior experience of learners in respect
of the subject

b. Interpersonal relationships of
learner’s family friends

c. Ability of the learners in the subject
d. Student’s language background

e. Interest of students in following the
prescribed dress code

f. Motivation of the students

(1) a,b,candd
(2) a,c,dand f
(3) b,c,dand e
(4) c,d,eand f

The process
interprets and understands the symbolic
messages he/she comes across during
classroom interaction is called.............

(1) Decoding

(2) Encoding

(3) Feedback

(4) Cueing

Which type of feedback

student development from their current
level of achievement?

(1) Specific Feedback

(2) Generic Feedback

(3) Non-Specific Feedback
(4) Structured feedback

in which the learner 47,

supports 48,

foveror SR ST fit 7 - @ AW ¥
fRrT qgras 7 STdr?

a. v ¥ s Rt 1 & sgwe

b. fRrareff % afaR wa It #:r e
SEL)

c. Fawwr & st & foremefT Y Traar

d. et &t wrwrft gugfa

e. IGAIRA T FIT FT ATATT A A
Rremdiat i =

f. forereffat @ s st

(1) a,b,c3d

(2) a,c, dxf

(3) b,c,dsiiTe

(4) c, d,esi<f

FET F TR STHAT § AT FiHIAH
Teet Y faramet S wimar & gwear g, 9
T FE €7

(1) SRR

(2) FrEEwI

(3) wiagf2

(4) SRR

fRrenfiat H st Sywfeaat & wivfas @<
#r AT F ¥ o By i wiagfe
HET HA?

(1) s SR
(2) = wfagfe
(3) =raT i
(4) w<tm wfagfz
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49. Pupil-centric classrooms means.... 49. Rt FRaT w7 F 7@ =T i'?

(1) Addressing individual differences (1) Fafcrs Frsaret u= e &7
(2) Reducing teacher initiated activities (2) foverh grr wRs wfafatest & g
(3) Recalling previous experiences (3) Tq‘a;ﬁ‘ Sijﬁ F] T FHLUT FIAT
(4) Engaging the entire class (4) FHET FLT R FTH H AT
50. Which communication method does not 50, -t gworers BAfd gwem ¥ o &
require any language to understand? ST Y v Tt X
(1) Verbal (1) wifes
(2) Non-Verbal (2) F-wifes
(3) Visual (3) 3
(4) Auditory (4) ==
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52.

S3.

PART - C
Reasoning Ability
(Expected Answering Time: 60 Minutes)

51. In a code language, FACTOR is coded 51, us %€ wrr §# FACTOR %t QNSBZE %

as QNSBZE. How would STRIKE be
coded in that language?

(1) QRSDJH
(2) CIGPRQ
(3) DJHQSR
(4) FLISUT

Three of the four numbers given in the 53,

options are alike in a certain way and
one is different. Find the odd number
out.

(1) 217
(2) 730
(3) 257
(4) 344

Three statements are followed by three
conclusions. Assuming the statements to
be true, decide which of the
conclusion(s) logically follow(s).
Statements:

1. Some snakes are reptiles.

2. All reptiles are quadrupeds.

3. Some quadrupeds are animals.
Conclusions:

I. Some animals are not quadrupeds.

I1. Some quadrupeds are snakes.

II1. Some reptiles are not animals.

(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Both conclusions I and II follow

(4) None of the conclusions follows

53.

&7 & HrErener T 4T {1 STRIKE &7 39
T 7 & Fweor BT STEn?

(1) QRSDJH

(2) CIGPRQ

(3) DIHQSR

(4) FLISUT

et ¥ Ry g 9 deamt # @ i deard
R &7 & F § R § TF ATT THR
# § 9 P &2

(1) 217

(2) 730

(3) 257

(4) 344

i Tt ¥ a1e AT Ford Re g § 1w
FHAT T GET AT a7 hiforg o A=A/
ot TheTa T & SIgET F@ §?
T

1. %% gty a g §

2. gt agT aIgIT |

3. & IgeIe wToft §

e

|. %E STt AESIE TR &

II. 7§ JgeIg AT §

1. =% g soft 7 §

(1) Fae (Ao | STgEer F3aT 2§

(2) Fa<r ARy || SETT FLAT

(3) AT A | i || a3 &

(4) HrE A fead srgeor 7L FE@TE

3024/D
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54. Eight persons designated alphabetically 54, ¥z £ fix ‘!E HCH THF TATHIC AW & 9T

55.

56.

from A to H are sitting around a circular
table facing the centre.

i. A is second to the left of C, who is
facing H.

ii. B is facing F, but is not adjacent to A.

iii. D is not facing E, who is adjacent to
C.

iv. H is sitting to the immediate right of
G.

Who is sitting between A and H?

() F
(2 G
(3) E
(4) B

Which number will correctly replace the 55,

question mark in the following number
series?

2,3,8,27,112,?

(1) 436
(2) 442
(3) 565
(4) 585

What will come next in the following 3¢,

letter-cluster series?
BFKQ, DDNN, FBQK, HZTH, ?

(1) TYWF
(2) KWWE
(3) TXVF
(4) TXWE

AT IFA A TRATAIH IR s ARF S
i. A, CHY € X @ §, SO H{g ‘H'
Y

i. B, F, ¥ e g, aRm Av e A T
i.D,E, FAMA TEI§ IR CFTIHE
iv.H, GFIma A g
ASITHF =& 7 do1 77

() F
2 G
3) E
4) B

Rufrfye dea—ma § - gear a8t &
¥ wraTS g F 999 St ?
2,3,8,27,112,7?

(1) 436

(2) 442

(3) 565

(4) 585

e ST Y gEwT § H-A7 I SEE
TS 3qT?

BFKQ, DDNN, FBQK, HZTH, ?

(1) TYWF

(2) KWWE

(3) JXVF

(4) JXWE

3024/D
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57. Three of the following four words are 57 R IR R FTAT IR AT T I T

alike in a certain way and one is 23
different. Find the odd word out. % &1 T = §, 7 A t’

(1) Volunteering (1) =ETET
(2) Inclination 2) FwE
(3) Readiness (3) Teaan
(4) Grudge (4) smhver

58. The two words given below are related 58§ Ru 7T I o= % AT T F TR
in a certain way. Which of the options tafr 1 R N N N NS

contains two words that are related the

same way? THR & gaaa § ?

Caress : Affection

T : A
(1) Selection : Interview (1) AT : ATATERT
(2) Intelligence : Mind () sfE:7=
(3) Aggression : Hostility (3) STHTEFAT : BT
(4) Promotion : Job (4) TSl FEd

59. How many numbers in the following 59, wF dear-Fw & & et B=-T deaT g

number sequence are immediately 5 Rrey Freh . .
followed by a number divisible by 3 but & U A T

NOT immediately preceded by an even LECE R

number?
8, 14,24, 17,42, 21, 36, 12, 23, 9, 21, 45,
8, 14, 24,17, 42, 21, 36, 12, 23, 9, 21, 45,
17, 24,15, 18 17, 24, 15, 18
(1) 8 (1) 8
2) 7 ) 7
(3) 6 (3) 6
45 4) 5

3024/D 20|Page(PTO)



60. Select the number pair in which the two 60, ¥@ gear-7w & & 7€ 2T G&aTd gTER

61.

62.

numbers are related the same way as the
two numbers of the pair given below.

5:30

(1) 11:132
(2) 9:85
(3) 13:154
@) 7:52

The numbers are arranged according to g1,

a certain pattern in the following
diagrams. Which number will replace
the question mark?

Ay v & dafraa § Rwedt § & PrA-a7
HT-H IEY T & dafeeaa § qfFe-
5:30

(1) 11:132

(2) 9:85

(3) 13:154

(4) 7:52

= Ry 77 IR § gt i Rty wF A
Safeya T T §) FA-HT qEqT vIETEE

g & et sTE?

5 3 9 7 11
59 78 129

8| | 7| |6 6| |?
1 5 (1) 5
29 2 9
(3) 10 3) 10
(4) 12 @) 12
The ratio of boys and girls in a class is 62, 1 &7 3 aTerR AT AT BT AT 2:3

2:3. Ankita, a girl, is ranked 11th from
the top and 25th from the bottom. If
there are 6 girls ranked above Ankita,
how many boys are ranked below her?

3\ Sifha, T rforeT, ST ST & Ed i)
T it A A oofted e R ) g war
T 6 ST SifHhaT F Fu< &, I SifFaT F
F=r v ST €7

(1) 10 (1) 10
2) 9 ) 9
(3) 14 (3) 14
4) 11 4) 11
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63. Among six girls, P, Q, R, S, Tand U, P 63, p, Q,R, S, T U ggaiR==t ¥ P, Q

64.

is younger than Q but older than R.
Neither Q is the oldest nor R is the
youngest of all. S is younger than both T
and U. Q is older than U, and U is
younger than R. Who is the third oldest
among these girls?

(1) P

(2) Q
3) R
@4 T

Pravin travels 170 meters from his home
towards North and turns right and
walks 40 meters. Again, he takes two
successive right turns walking 50 and
130 meters, respectively and reaches the
market. What is the air distance
between Pravin’s home and the market?

64.

¥ 9, AT R & 7t &) 7% Q w9 o
T g, IR S S, T U
A QUITR MU, RTSH §1
arferrel & & g TR A 2

(1 P

2) Q

3) R

4 T

FEfoT I X & I fam Fi K 170 Hex
STaT 81 9% ieAt AT FEFT 40 Hex Srar
21 i =g feY aws & S gE A 50
e el 130 e s a9 § gg= Strar
3 T F w9 AR IR F fiw gars &
vt 87

(1) 75 meters (1) 75X
(2) 90 meters (2) 90 T
(3) 120 meters (3) 120 =T
(4) 150 meters (4) 150 Hax

65. The two letter-clusters on the left of the g5 . /g Y a1 TF & ¥ sw—TqE &
sign ¢::” are related in a certain way. The s .
same relationship holds for the two AR Qe % I e
letter-clusters on the right of the sign ::’ AT AT &Y AL GG 1 e A qgy qae
of which one is missing. Find the missing B A

: TS § HIF—AT &L .
e, T TF T § T &
BARK : ZCPM :: KITE : ? RAIARY
BARK:ZCPM : KITE: ?
(1) JISF (1) JISF
(2) IKRG (2) IKRG
(3) IISG (3) 1USG
(4) RGIK (4) RGIK
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66. P is the husband of Q, whose mother-in- g6, p, Q %7 9f t, IR qE R T, S & ardt Y

law R is married to S. W’s wife V is the
only daughter of S. Z is the only HWH TV, SHrei I H Z, Wh

daughter of W. How is P related to Z? T AT 51 Z & P FT e HET §?
(1) Maternal uncle (1) #m™T
(2) Paternal uncle (2) =T=T
(3) Father-in-law (3) T
(4) Grandfather (4) =TT

67. If '+' means 'x', '-' means '-', 'x' means g7, g '+ Fref ¥ & ot Exwr e

"', and '+' means '+', what will be the . N
value of the following expression? ¢ &+ wrand '+ ) e arfrerRe 1 am

(28-3)+9x(12+8)-4="2 HT ER?
(28-3)+9x(12+8)-4=2

(1) 65 (1) 65
) 28 2) 28
(3) 46 (3) 46
4) 79 4) 79

68. Which of the following Venn diagrams g8, #fi%r Ru 77 37 smegt §  s-a7 fafem,

best illustrates the relationships among > : .. o
Educated, Relatives, and Aunts? R R (aunt) =

®) Q) (R) (S)
(1) P (1) P
2) Q 2 Q
G R 3) R
“4) 8 @) s
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69. How many triangles are there in the g9 e sgfy & fraw Praer ¥2 &7 ol &

following figure?

g T e ¥ =y § Rffgg v &
AT FT AT AT |

(1) 12 (1) 12

(2) 16 2) 16

(3) 20 (3) 20

(4) 22 4) 22

70. What will come next in the following 70, s siT d&aT F A9 ¥ o+ g@w@T § =T -
alpha-numeric series?

DE9, FH14, IL21, MQ30, ? 1 AT & e ?
DE9, FH14, IL21, MQ30, ?
(1) RW41 (1) RW41
(2) RV40 (2) RV40
(3) SX43 (3) SX43
(4) RW39 (4) RW39

71. Three of the following four letter- 7] ffF IR AT TR AT A AT TT T TH

clusters are alike in a certain way and . a3 23
one is different. Find the odd one out. d TR g1 FOar

T
(1) LIPN (1) LJPN
(2) TRYW 2) TRYW
(3) RPVT (3) RPVT
(4) DBHF (4) DBHF
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72. A team of four players is to be selected 72, A B, C, D 9K 72w fa=nf@ai < P, Q, R,

73.

from among four male players A, B, C,
D and four female players P, Q, R, S
with the following conditions.

i. C and R will have to be together.

ii. B and S cannot be selected together.
iii. D has to go with Q and vice-versa.
iv. A and P cannot be selected together.
Which of the following members can be
included in the team?

(1) ACPR
(2) BDRS
(3) ADRS
(4) ABCR

Given below is a statement followed by
three assumptions numbered I, IT and
III. Which of the assumption(s) is/are
implicit in the statement?

Statement: Globalization has brought in
a lot of consumer products that are
aspirational and in the ‘must-buy’ list of
most consumers.

Assumptions:

I. Consumers mostly buy products that
are essential.

II. Some products in the market today
bank on the consumer’s desire for
possessing those.

ITI. Consumers want to buy products to
earn a status symbol in the society.

(1) Only I is implicit

(2) Only II is implicit

(3) Only III is implicit

(4) Only I and III are implicit

S WX wfger RenfRat § & e o=t &
gga A RenfEat f ww dv T g
ST

|.C X R T% a9 &I |

I1. B 3T S %7 T AT I o1 g1 |

1. D ¥ Q % are ST 2R ) 7o Al
IV. A 3l P T T 9T 99 g1 g7 |

a1 § fAw # & o o ada?

(1) ACPR

(2) BDRS

(3) ADRS

(4) ABCR

7 TF e F Rro fim af Remg 158

I, 11 3 1l Fa= & forg Se-at i Sug
&

T - SefieRor 3 T TR ST
Y arifEe o Afte w-gEh § @ T
FEI-H IIT T § 30 Y

HIVIT

|. STHIRT T TE & T ITE G4 &)
I1. STSTHeT T ST STHIRATSH Y FTHAT F
FTETT I AT & A1 A1 &)

1. gaTer § ST ¥ adiw F &9 F ST
IR IWTE GOEAT ATE &

(1) e | 3T §
(2) Fa Il ST €
(3) et Il STIF &
(4) F=ae | S SULF &

3024/D
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74. In the following diagram, the rectangle 74, % R 7 e ¥ araa wRETH w1 @w
FHATIAT FT A T Tt #7 v
e §1 Fraer Fi=d, s § Afte wigerd
T &2

75.

represents ‘women’, the rhombus
represents ‘employees’ and the circle
represents  ‘singers’. How many

employees are singers but not women?

(1) 14
) 8
3) 15
“4) 7

A statement is followed by two
conclusions. Decide which of the
conclusions logically follow(s) from the
statement.

Statement:

The domestic demand for crude oil in
country X is increasing much faster than
the production of indigenous crude oil in
the country.

Conclusions:

I. The country X should plan for
importing crude oil.

II. The country X should reduce the
domestic consumption of crude oil.

(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Either I or II follows

(4) Neither I nor II follows

75.

(1) 14
2) 8
3) 15
4) 7

TF 799 & 9% &y fAers Ru g g1 @@
FIrT f wF—ar Fed o dra =9 & F99
% forg s 87

T

X X & Y A A oG AT 27 ey 7y
A F IATE Y AT A 9T AT 95 EY
gl

et

. X 39T Y A AT FA T TIoeT SN
Il X 397 7 Y I I A il HEMT
HTiql

(1) Faa Aoy - |

(2) FFa Ao -1

(3) 13Tl fFehd

(4) 19711 § & 7 TEh
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76. Two rotated positions of a dice are given 76, g qra #Y v aaelt g§ Rafrat & wf % ‘6"
below. Which number will be at the top N _{_@_q_( et & 3 BT M

if ‘6’ is at the bottom?
(1) 2

(1) 2

() 3 ) 3
(3) 5 (3) 5
41 4) 1

77. A cube of each side measuring 8 cm is 77, gy qrd 8 ¥, WY . T AT TF A F Y,
painted green, red and yellow on pairs . i 7
of opposite faces. It is then cut into Tt S e T & T £ AT e
smaller cubes with each side measuring ¥ I T QAT T ) 2 &Y gea
2 cm. How many smaller cubes will have AT — S T & e BTy | e A

at least one face painted? .
FH - — 59 TH ITH g SO B ?

(1) 56 (1) 56
(2) 48 (2) 48
(3) 42 (3) 42
(4) 36 4) 36

78. The two figures on the left of *::> are 78 «» ¥ ¥ Hx A I sFfaw! & Ay =R
related in a certain way. The two figures ¥ wafeT & | 4 ¥ e A A @ s

on the right of ‘::’ are related the same

way, but one of the figures is missing. St ywr "afag & | g T A
Find the missing figure from the W% mmﬁwﬁ.%

options.
T
= 5
® @ ®) ©)
(1) P (1) P
() Q ) Q
3) R (3) R
4) S G
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79. The figures in the following series 79 fR{w et ¥ Arpfaat e & T sy aEt
progress in a pattern. Which of the . A
£ | gueT § R e sl vy Reg

option figures would replace the

question mark in the series? %1 wfdenfT T aawii?

Problem Figures - GHTITE® TP

NR N2
PN | N2 ?

Answer Figures - 3%X arrqsﬁt

AN o
AN
) S)
()P (1) P
2 Q 2 Q
3 R 3) R
4 S 4 S

80.In a cricket match, the average runs g0, uw firde &= F =T TootaTeI 7 a0 24

scored by four batsmen was 24. P scored
10 runs more than Q, who scored 7 runs 9P, Q¥ 10 W ABF T ATRE7

less than R. Both Q and S together FH 97T | Q 3T S T A e R F

scored 7 runs less than twice the number %?ﬁ.% 7 FTTCI S ¥ vy T
of runs scored by R. How many runs did

S score?

(1) 31 (1) 31
(2) 36 (2) 36
(3) 25 (3) 25
(4) 24 4) 24
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